FUILTIY - 1 5% TXFOR] #

NO. 1 NO.2 NO.3
115-7 1(4-8 113-7
2 |-15+6 2 |-12+4 2 |-11+5
3 |-16-7 3 |-14-6 3 |-18-3
4 |-5-(-8) 4 |-3+(=7) 4 |-6-(-9)
5 |7x(-9) 5 [+4x(-9) 5 |-8x(-6)
6 |56+ (-8) 6 |45+ (-5) 6 |-24+6
1 |5x+6x 1 |4x+9x 1 |x+8%
8 |3y-5y 8 |5y -8y 8 |13y—7y
9 |7x+2-3x+5 9 (8x—1+7x-6 9 |[4x-3-7x+5
10 |4x+3-2x-7 10{6+x—8x-5 10 {3x—6+2x+4
11 |-5xx(=7) 11| -8xx5 11|6xx(=7)
12 | ~122% (=) 12 200 % () 12 |-240x (-3)
13 |-64a + (-8) 13|-27a+3 13 |40y + (-8)
14|62+ (-2) 1492+ (-5) 14|80+ 2
15|4(5x-2) 1516(3x+7) 15(9(5x-1)
16 |-5(8x—3) 16 |-7(7x—4) 16 | -8(4x+3)
171 (36x+8) +4 17| (25x—-15)+5 17| (56x-72)+8
18| (30x—18) + (-6) 18| (49x+14) + (-7) 18| (30x—12)+(-3)
19[-35(55%) 19 |12(%3) 19 |-18(ZEE2,
20| - 10 20 [ 825 (-18) 20| 32+L 28
21| (6x—4)+Cx+7) 21 | (8x—=5) + (=3x+1) 21| (3x—-8)+(9x—-5)
22| (2x+5) - (7x—2) 22 | (9x—2) - (5x—6) 22| (5x+3) - (6x+5)
23 14@2x—1)+3(x—-3) 23 (3(7x—3) +5(4x+2) 23 63x+4)+52x—5)
24| 73x+5)—6Q2x+1) 24 |5@2x—1)-23x+2) 24 | 4(5x—-3) - 3(6x—5)
25(3@3x—-2)—4@2x-5) 25 (3(6x+2)—5(4x—3) 25 |8(x-1)-32x-3)




FUILVTUY

1 8% TXF0 ] #®

NoO.4 NO.5 NO.6
113-7 115-9 112-5
2 |-11+3 2 |-13+6 2 [-12+5
31-17-9 3 |-14-8 3 |-13-9
4 1-3+(-9) 4 1-5-(-8) 4 | —4+(-7)
5 |-6x(-9) 5 [-8x(—4) 5 -9%(=3)
6 |42+ (-7) 6 [63+(-7) 6 |36+ (-6)
1 |4x+7x 1 |5x+9x 1 |3x+5x
8 |5y—-9y 8 (2y—-7y 8 |11y-9y
9 |5x+1—-4x+5 9 |6x+7-3x—4 9 |9x-2—-4x+5
10 |2x+7—-5x—4 10 |x+1-8x-3 10 |5x—7-9x+4
11 [-7xx9 11 [-8xx(=3) 11 [bxx (=7)
12|92 (-%) 12 [~10a x (-2) 12 |-8ex
13| ~48a = (-8) 13|-54a+6 13 |-28y + (—4)
14|62+ (-2) 1492+ (-5) 14|80+ 2
15(8@3x+7) 15(48x+7) 15| 7(4x-9)
16 |-7(4x-9) 16 |-6(5x—7) 16 | -3(9x+6)
17352 +10)+5 17| (422-18)+6 17((63x-28)+7
18| (24x-9)+ (-3) 18| (9x+81) + (-9) 18 | (72x-8)+ (-8)
19 |-24(%52) 19 | 12(22L) 19 |-15(2%=4)
20| 3E43 g 20|92 (-9) 20 3=L 20
21| (8x—-5)+Bx+2) 21 | (B3x+2) + (-dbx+1) 21| (6x—-7)+(@2x+9)
22 |3x+1)—(5x-2) 22 | (7x—1)— (dx—5) 22 | (9x+6)— (x—5)
23 |3(7x—-5)+2(9x-8) 23 (2(9x—3)+53x+2) 23 4@x+1)+23x—-5)
24 163x+1)-2(5x+2) 24 |4(5x—3)—6(3x+1) 24 \53x-2)-2(7x—6)
25 |52x-5)-3(3x-8) 25|3(8x+2)-5(5x-3) 25| 7(3x—4) - 3(6x-8)




